Slide table cylinder
HGS Series

AIl'TAL
Bore size: ®6, ®8, ®10, ®12

Ordering code

HGS 10x15 S J

® @ @06

(1) Model (3 Stroke (4) Magnet

HGS: Slide table cylinder Bore size (mm) | Standard stroke (mm) Blank: Without magnet
6 510 S: With magnet

2 Bore size 8 5 10 15 20

6 8 10 12 10 510 15 20
12 510 15 20 25

(5 Stroke adjustment device

Blank: Without stroke adjustment device [Note] Stroke adjustment device of ®10\®12 can be replaced by shock absorber.

J: With stroke adjustment device
[Note]

F-HGS 10x15 H

® @ 06

Ordering code of accessories

@ Model @ Stroke 4 Accessories type
HGS: Slide table cylinder Bore size (mm) | Standard stroke (mm) H: Sensor fixed seat 2
6 5 10 package
CIEniElslzg 8 510 15 20
6 8 10 12 J: Stroke adjusting screw
10 5 10 15 20 package
12 510 15 20 25
Matching table
Sensor
Ordering Stroke (mm)
code 5 10 15 20 25
6 F-HGS6X5H F-HGS6X10H
Bore F-HGS8X5H F-HGS8X10H F-HGS8X15H F-HGS8X20H
size | 10| F-HGS10X5H F-HGS10X10H | F-HGS10X15H | F-HGS10X20H
12 F-HGS12X5H F-HGS12X15H | F-HGS12X20H | F-HGS12X25H
Stroke adjusting screw
Ordering Stroke (mm)
code 5 10 15 20 25
6 F-HGS6X5] F-HGS6X10J]
Bore| 8 F-HGS8X5] F-HGS8X10] F-HGS8X15]
size | 10| F-HGS10X5J F-HGS10X10J
12 F-HGS10X10J F-HGS10X15] F-HGS10X15J]
L 298




Slide table cylinder AIl'TAL

HGS Series

Specification

Bore size: ®6, ®8, 10, 12

Bore size(mm)

6 8 | 10 | 12

Acting type Double acting

Fluid Air(to be filtered by 40um filter element)
Operating pressure 22~100psi(0.15~0.7MPa)

Proof pressure 175psi(1.2MPa)

Cushion type Bumper ‘Bumper or shock absorber
Temperature -20~70°C

Lubrication Not required

Speed range mm/s 50~500

Stroke tolerance 05

Sensor switches [Notel] DMSH(S)

Port size M3x0.5 | M5x0.8

Production weight table

Unit: g
S Body Sensor fixed seat Stroke adjusting screw package weight

weight package weight | gjhgje adjusting screw Single shock absorber Other accessories
HGS6X5 116.1 14.25 2.4 - 11.61
HGS10X5 152.3 19.05 2.4 - 11.61
HGS8X5 133.01 14.05 2.4 - 10.34
HGS8X10 167.46 18.54 2.4 - 10.34
HGS8X15 207.07 23.35 2.4 - 10.34
HGS8X20 239.37 28.16 2.4 - 10.34
HGS10X5 194.26 15.91 6.8 16 27.36
HGS10X10 248.98 19.12 6.8 16 26.2
HGS10X15 303.39 24 6.8 16 21.8
HGS10X20 352.05 28.93 6.8 16 21.8
HGS12X5 291.01 21.64 6.8 16 27.36
HGS12X10 318.12 21.64 6.8 16 26.2
HGS12X15 356.79 27.63 6.8 16 21.8
HGS12X20 445.92 33.25 6.8 16 21.8
HGS12X25 491.34 38.87 6.8 16 21.8

Example:

HGS10X15SJ=Body weight+Sensor fixed seat package weight+Single adjusting screw weithgX2+Other accessories weight
=303.39+24+6.8X2+21.8=362.79(9g)

299




Slide table cylinder

AIl'TALC

HGS Series

Table precision

Max. allowable torque

M
5 y
™
[o]
@) @

)

Q@

Bore size: ®6, ®8, 10, 12

[Unit: mm]

Model HGS6 | HGS8 & HGS10 | HGS12
parallelism C surface to A surface 0.02
D surface to B surface 0.02
Parallelism of | C surface to A surface 0.004
walking D surface to B surface 0.004
Dimensional tolerance of E +0.05
Dimensional tolerance of F +0.05

)

Model Max. Allowable torque (N.m)
Pitch moment Mp Yaw moment My | Roll moment Mr
H X
_HGS6X5 | 0.42 0.42 0.87
HGS10X5
_ HGS8X5 | 0.42 0.42 0.87
HGS8X10
HGSAX1s 1.7 17 18
HGS8X20
HGS10X10
HGS10X1
HGS10X20
HGS12X5
HGS12X10 2.4 2.9 4.7
HGS12X15
_HGS12X20 | 6.5 77 73
HGS12X25
Max. allowable load
[Unit: kg]
Model HGS6 HGS8 HGS10 HGS12
No stroke adjustment device 0.3 0.3 0.8 1.2
With stroke adjustment device 0.2 0.5 0.8 1.2
With shock absorber - - 16 2.0

300




Slide table cylinder AIl'TAL

HGS Series Bore size: ®6, ®8, 10, ®12

Table deflection

Table deflection due to pitch moment Table deflection due to yaw moment Table deflection due to roll moment

A
F A F A
F
o! 0 @
| O L
0.0 oI 0
° o o ° - Lo [ ol I®
L
L
L
HGS6 L=80mm HGS6 L=80mm HGS6 L=80mm
T i ; T T I T T T T T T
~0.05f -+ - 1 ] ~0.05] b ~0.05] 4]
E L £ IR L0
50.04———1———7‘———#———;7— R e i i B S
| | |
B0.020 - 5°-°2*"*F"T”T*"i"" 8002t
g o.m%ﬂfﬁﬁ g o.m;:ﬁ/j‘éf:ﬁ”;mf g 0.01%773 -
| | | | | | | 1 | | | |

0 10 20 30 40 0 10 20 30 40

Boof A2 =

|
20

Load N Load N Load N
HGS8 L=80mm HGS8 L=80mm
T T T T T T T T
! I ! I | | | |
Eo.osﬁﬁifﬁi}fﬁiﬁﬁi" ,\0_05,,,,T,,,4},,,,i,,,+,
R e A S E0.04 11—
LR T 5003 ]
0.0 He30x30 - Hasext 5 0.02HEBX™ | i 6sexise]
o V-V HGSsX1 T-IgSSXI‘S& @ HGS8X10™ i |
| HGS8X20 S 00l - | HGS8X20 |
L STl T
0 20 40 60 80 0 20 40 60 80
Load N Load N
HGS10 L=100mm HGS10 L=100mm
T T T T T T T T T
| | | | | ! | ! |
2005~ 2008~
| | | | | ! | ! |
Eo.oap— E .08 -----t-----t-- 4
c0.037HG ! N I = | | | | |
2 ST10x1g 15101 S 0.04 HG510X58& ~ HGS10X158
$0.02 S HGS10X10 HGS10X20
5 % 0.02 ==
3 0.01 2 ! !
| | L |

0 0 40 60 80 10(
Load N Load N
HGS12 HGS12 L=100mm HGS12
T T T T
| ! | |
Y R oo
£ 0.04 £ | ! | | £ on
. E0.06f Al £o.
S 0.03 c | ! ! ! = 00
£ 2 0.04} HGS 12X 5~ HGS12X208 - 15
g 0.02 3 HGS12X15 HGS12X25 | 20.02
E < 0.02 ko
8 0.01 5 2 ool
’ 0 50 100 150
Load N Load N Lod N



Slide table cylinder

AIl'TALC

HGS Series

Installation and application

1. Cylinder can to be mounted from 4 directions

2. When mounting an compact slide cylinder, screws of appropriate length should be used and tightened properly within the maximum

Bore size: ®6, ®8, 10, 12

tightening torque. If screws are tightened beyond designed limits, malfunction may occur. If they are tightened insufficiently,
it may result in sliding of falling off from its position.

[j°°
Oﬁo oy O
\

Model Bolt 'Max. tightening Max. screw-in

used torque (Nm) depth(mm)
HGS6 | M3x0.5 1.1 4.5
HGS8 | M3x0.5 1.1 5
HGS10| M3x0.5 1.1 5
HGS12| M4x0.7 2.5 4.5
Model Bolt 'Max. tightening Max. screw-in

used torque (Nm) depth(mm)
HGS6 | M3x0.5 1.1 3
HGS8 | M3x0.5 1.1 3
HGS10| M3x0.5 1.1 3
HGS12| M3x0.5 1.1 4

About shock absorber

Model Bolt 'Max. tightening Max. screw-in
used torque (Nm) depth(mm)
HGS6 | M4x0.7 2.5 4.5
HGS8 | M4x0.7 2.5 5
HGS10| M4x0.7 2.5 5
HGS12| M5x0.8 5.1 4.5
Model Bolt 'Max. tightening Max. screw-in
used torque (Nm) depth(mm)
HGS6 | M2x0.4 0.26 4
HGS8 | M2x0.4 0.26 4
HGS10 M3x0.5 1.1 3
HGS12 M3x0.5 1.1 4

1. Shock absorbers are expendable. Promptly replace them when energy absorbing capacity decreases.
2. Never turn or adjust the screws on bottom of the shock absorber body. The screws are not for adjusting.
Otherwise would cause oil leakage.

3. Follow the table for tightening torque of shock absorber to lock nuts.

Shock absorber lock nut

Shock absorber

The screws are not adjustable

otherwise would cause oil leakage.

302

Model | Shock absorber Tighteningtorque
HGS6 .

HGS8 Without shock absorber

HGS10 ACA0806-1N 1.67(N.m)
HGS12 ACA0806-1N 1.67(N.m)




o
Slide table cylinder AIl'TAL

HGS Series Bore size: ®6, ®8, 10, ®12

Inner structure

NO. Item
1 Body
— 2 Slide table
ﬂ L 3 Adjustable screw
—— =S 4 Bumper
— ) P
I_ ; ; _l Y/ 5 Hex nut
L ‘ | 6 Middle stopping block
an W W 2
A~ A O O 7 | Hexagon socket head screws
1= : End stopping block
7o) o O 1 8
)/ I_ _l 9 | Hexagon socket head screws
' : 10 Sensor fixed rail
11 | Hexagon socket head screws
12 Magnet holder
6)(7
@ W Q 13 Magnet
\QESV\, T 14 Screw
15 Pin
N \g' 16 Piston
@ A N\ , @Q : 4 17 Piston packing
AL = 18 End cover
B oW @ @ 50 19 0 ing
20 Cclip
Dimensions(HGS6)
HGS6X5 5 [Unit: mm]
®31§81dp:3 2-M3X0.5 3
3 in 15 0 Inlet port ®31381dp:3 19.5+0.05
™ T o .
0| N I
in 2.3 ‘ 2 3T I i . ©
5 5- i ° i g !
~ & o<1 %y 1 A © o ‘
e g\ EEEE ? o ALhLB-
[ce] < /| vi
<+ T 1
< = ™ ‘ g o (e}
Ql © a L [Te) <
o < © N ol T gl
= o wn| 31331 dp3 b} S o a
. > o . . ~ © ©
S g > 16 2-®6 Countersink dp:3.5 =l o 33
A . o M4X0.7Thru.hole d T %
~ ~ | = (%)
= < n
N N
o~ =
15+01 20+0.02 &
Q=& | ©
i S
’E} - ~
m’- 1
P. Qare Installation datum |23 +0.05| ™
HGS6X5S HGS6X5] Adjustablerange :5mm
1 H8
6 H3
p 44 0.5 10 3 2
: OO ||
n
o 2 0O % v © © :i ) |
e 2-M3X0.5 = 5 - e '
Inlet port ! 8 9

2 303



o

Slide table cylinder

AIl'TALC

HGS Series

Bore size: ®6, ®8, 10, 12

HGS6X10
5
®3185idp:3 2-M3X0.5 |3 oo
3 15 Inlet port ®31381dp:3 19.5+0.05
¥ ¢ 1K [e)|
0 >~ © ~
- 2.3 _ . 2.3 = 3
| 3 EER e
d P ol<| ~.| W N L'd
< 7o) ~ \I7 —y - | M) q— « m
N N o G’ ~ (o 8 et L ; LJ
< Al < O
<« a 0 S a <«
a o g . I 2 i
g ; L +0.04 e g :Y % Ie
A x > 33001 P <« f a
S) = o dp:3 16 2-06Countersink dp:3.5 ZI a ?.EFS’_
o Q | M4X0.7Thru.hole ~| 3 5%
= ¥ < «
& >
n
~
=
N
1.5+0,120+0.02
QR w| &
Y <
[P} K
@ 5
P. Qare Installation datum [23+0.05 ™
HGS6X10S HGS6X10] Adjustable range :5mm of each sides.
Max56
1 10 6 H3
o 0.5 n
: 29 3 3 pk
©0© I [
fan " —1C
© i
10| = 2-M3X0.5 46 5 2 0 45
Inlet port e i
34 11 9

304




o

Slide table cylinder

AIl'TALC

HGS Series

Bore size: ®6, ®8, 10, 12

Dimensions(HGSS8)
HGS8X5
©3103idp:3 5.5
2-M5X0.8 3.5
wn
3.5 - 15 - Inlet port
] i
2.6 Mwnl g
S 1= % 7 2.9 w7y
o Py b 9 L2 < o
o ~ . A O N < - 9
< < Al a :
% % - ‘ = .§ @?Q
o ° al [ T | o
@ < S & S| &
S S w3188 O terei S| =
= < = = 2-®6Countersink dp:3.5 s|
[\ N > dp.3 BR=)
= = o) 16 M4X0.7Thru.hole ~l X<
~ ! = pad]
~ ] =
< |
o
1.5+0.1 20+£0.02
@ - 8
o
RS EREE
P. QarelInstallation datum |23.0.05
HGS8X5S HGS8X5]
6
n
o 45 0.5 10 3
i PI®
) —————]
[ POO °w- O ©
2-M3X0.5
10| = . .
J S Inlet port 31 2:2 20-5 %3
8.5

305

[Unit: mm]

16 3.5+0.05

23

13.5

B

+0.04

94

31501dp:3

Adjustable range :5mm

P3%0.01dp:3

H8
1 H3
o

m
|

ol 4.5
o

9




o

Slide table cylinder

AIl'TALC

HGS Series

Bore size: ®6, ®8, 10, 12

HGS8X10
5.5
®3i8:8‘{dp:3 2-M5X0.8 3.5
3.5 15 Inlet port 16 3.5+0.05
o ~
[=] S I~ 1l o
~ 2.6 2.6 wl o o 4O | €
L to [l Y | o J e w4 3 10:01dp:3
d O T 3 M il
o S o & il RN T o 8 e
it > lio| o < 2 .l
o b I 3
Y 5 o 1k S pl 53
=1 < =] . ) o 32 -~ ™
2 g 2 L & AR |\
< g 3| 3+00d 4-06Countersink dp:3.5 3| 5 0
= & ZI dp:3 M4X0.7Thru.hole 'S
~ - 16 ~ g
=
~
1.5+0.1 20+0.02
@’ e 0| g
i o
O TSl
P. QareInstallation datum |23.0.05
HGS8X10S HGS8X10J] Adjustable range :5mm of each sides.

59 0.5

0.5

10| w
*Jo 2-M3X0.5 49 2:5
Inlet port

Max56
6 L
10 6 _H8
wn
3 3‘ Sy -n H3
©9)(©)
wn
YA
| © © a |
34 11 ] 2 1 4.5
o
9

306




o

Slide table cylinder
HGS Series

AIl'TAL
Bore size: ®6, ®8, ®10, ®12

HGS8X15
5.5
®31058idp:3 2-M5X0.8 3.5
3.5 15 Inlet port 16 3.5+0.05
T 2 =~
n 1 ~ Qlnin
~ n| N
N 2.6 ! i N n G} {3'
o \3} 2.8 o o 4
i ™
“Ie o o % 0 ol—2 v31881dp:3
= " Y — r‘v\jw < <
3 ¢ 2| | & o 0 S 1@
Al S
o 12 . . | < [} o =2
v s a n e /P $¢
T s 2 n 3 R ==
Ql > o i h 7] =
g g 5 2« /l®
o | = 004 : . IS n
% ~ < 331001 4-Pp6Countersink dp:3.5 ~ S “
= dp:3 16 M4X0.7Thru.hole S
<+ =
=
i
1.5+£0.1 20+0.02
QH o ol
o
L EPEREY
P. Qare Installation datum 23+0.05
HGS8X15S HGS8X15] Adjustable range :5mm of each sides.
Max61
6 1
10 6 _.H8 _
n
S 74 03 3 0 H3
! Sy
jah — nf = 7N
(Y A ©) o _° | 00| |©e i
10] 21 2-mM3%0.5 64 5.5 14|11 14 7 2* 4.5
Inlet port 9

307




o

Slide table cylinder AIl'TAL

HGS Series Bore size: ®6, ®8, ®10, ®12
HGS8X20
5.5
®3390idp:3 3.5
: 2-M5X0.8
. \ 15 3.5+0.05
3.2 Inlet port 16
n
i 4 8 2l 4,
N » : N o | o
J 2.6 3} 2.6 o
" —— 4
O O]
o fHie el < = ; w0 n o ©310:0idp:3
0 < © (H - = o d
A g )
[} s n = 3 o — 33
P S & S s 2 i3
=) o 1 < el
<« S pk ) <
o
Ul B o 1 . lo 1 o
o | 5] N
n ~ = a e
g 4 4-d6Countersink dp:3.5 b =
o 31801 M4X0.7Thru.hole S w
[ . [s2]
- a3 46 =
<
1.5+0.1 20+0.02
[QH o S
o
BECEREE
P. Qare Installation datum |23.0.05
HGS8X20S HGS8X20] Adjustable range :5mm of each sides.
Max66
6
10 6 —~H8
n
St 89 0.5 3 3 gﬂ _ﬂ3
! . 7
VA - Y4D
[ ? o1 ® el iy l
10 21 5 M3x0.5 79 5.5 14_| 16 | 14 |11 gf 4.5
Inlet port 9

308



Slide table cylinder

AIl'TALC

HGS Series

Dimensions(HGS10)

HGS10X5

®©330:01dp:3

3.5
~ _35
{ 1 ~—
~— — 1 ~—
& o it A
o =3 o
0 =2 vl
S o <3188 i
™ P o — n
= = =|dp:3| 1 _| \2-®6Countersink dp:3.5
o N N M4X0.7Thru.hole
0.5+0.1 27+0.02
QeSS ] =52
’E} f b\ | H
P
P. Qare Installation datum 28+0.05
HGS10X5S
ot 47 0.5
o
| AIFEAR
o
)
I 2 2
10| 2 33 5.5
2-M3X0.5
Inlet port

Bore size: ®6, ®8, 10, 12

.

2-M5X0.8
Inlet port

3.6

©

o| =

2-M3X0.5dp:3

2-M3X0.5dp:5

HGS10X5] Adjustable range :5mm

5.5
17

11
48

31381dp:3

13

H11l
H4

o.sﬂ‘

12

3.5+0.05
[

=
031001dp:3




Slide table cylinder AIl'TAL

HGS Series Bore size: ®6, ®8, 10, ®12
HGS10X10
5.5
35 ®37581dp:3 20 2-M5X0.8 2° 21 3.5:0.05

Inlet por

=

<
—

[Ts]
I > & T
2 | | ié n 8 M(} q
Wiy — 4 +0.04,4 .
o | H o[ o o] | e MHole ®318:31dp:3
S N S ol et — 1" P 28 . fﬁ%—d
s . - . 2
0 2 o T S S 33
a o. o — n ==
| ERE 1 ddk
g < 2t o 52
o o =|3%001dpi3 4-®6Countersink dp:3.5 =3 n
z 3 < 21 M4X0.7Thru.hole ~g
(a2}
=
~
0.5+0.1 27£0.02
Ly =N Ei=
[P] (/MR o] +
Sl
P. QareInstallation datum 28+0.05
HGS10X10S HGS10X10]J Adjustablerange :5mm of each sides.
Max. 74
9 9
ot 0.5 H11
e > 4 14 4=y o H4
== 0 T
() s | . )
| s i clll REINE |
10| 2 \ 49 5.5 - m‘T .
2-M3X0.5 50 sl

Inlet port

2 310



Slide table cylinder

AIl'TALC

HGS Series

Bore size: ®6, ®8, 10, 12

HGS10X15
5.5
®3188idp:3 2-M5X0.8 w1 3:5
35 20 2 frigt pogt 21 _ 3.5£0.05
LT {
Sl = | 3l
- | 1 26 g > | <€
Lio ] |3 ® o
© s | @ @ © 4 +0.04
| | ‘ ISl A ©| in 1 T ol 19 o 3 Io.01dp:3
41 ¥ SIANARREER o
el li NIZMEE 4 N IECI 2
T
| = 7 o i =X =
© ® g R <! - 3 o— ;;
i l.n_ S — o ™
n S [ 3 ql L ﬁ n
a [aa) = [ s N
= ’ = Ho | L
pt \ N 400 N g
S o~ 3%00idpi3 4-®6Countersink dp:3.5 3
2 21 M4X0.7Thru.hole S
| o™
< =
<+
0.5+0.1 27+0.02
=N EE
[P} (/A nf +
M
P. Qare Installation datum 28+0.05
HGS10X15S HGS10X15] Adjustable range :5mm of each sides.
Max79
- ” - . HIL
S 74 05 4 4 Syl Jna
T oC e
D) QF 7Y
| ® © B _°l P® @O® | |
i n
10 | 5 64 55 20 15 20 10| 2 ) 6
1003 2-M3X0. S

Inlet port

311




o

Slide table cylinder

AIl'TALC

HGS Series

HGS10X20

®31534dp:3

4-d6Countersink dp:3.5

e 20
< N
Q 1l
36 ) x ©
. i
F O © @ of Bz g
el 3 | < <
o o=
o (O]
© % by
i & =
n o
2 3 s Yo Il
© | (a2}
o ~ = |
o |
> © 31881 dp13
= 21 M4X0.7Thru.hole
<+
0.5+0.1 27+0.02
Bls > SW =
[P} (/AR ] +
NI
P. Qare Installation datum 28+0.05
HGS10X20S

n
= 89 0.5
MNA;?: B%
)
I © o1
LN,
105 / 79 5.5
2-M3X0.
Inlet port

312

5.5
2-M5X0.8 3.5
Inlet por

wn
w g
3.6

(o]

o [ o
ol I¥
™ Q&
o
B o
g [t}
[32]
=

wn

[V} n m

i}

L=}

n

o

=<

[s2]

=

<

Bore size: ®6, ®8, 10, 12

21 3.5+0.05

BN

©318:5idp:3

31651dp:3
e
|\—

[ 9

HGS10X20] Adjustablerange:5mm of each sides.

Max84
9 - W H11
4 14 ~l4 S| H4
QC 2 >
o) (AR
e® O® | I
20 20 20 a6
12




Slide table cylinder AIl'TAL

HGS Series Bore size: ®6, ®8, ®10, ®12
Dimensions(HGS12)
[Unit: mm]
HGS12X5
5.5
®315:31dp:3 )
S g mee g0
MF_ A || ©
ol = =||&/ o
Ny 36 ' 39 I 4
fem ol : @ §>—~e 1 ° 03 30:0idp:3
< Ha= eSS BEIEE Bl 99 oo @ 4
i o= T S
s | i & = =
. = a ‘r N — = F+
a S a o J e
3 i 3 =3 s &L 7 ok
2 o 3 I ..
% S % 310:3idp:B & = § J»45
s = s 2-M4X0.7Thru.hole NS -
l ! ] 24 <
~ ~N < 2
~
0.5+0.1 32+0.02
m
e 2
PHC T I
(o]
P. QareInstallation datum 33+0.05 2
HGS12X5S HGS12X5] Adjustablerange:5mm
14 9
© 6.5 H11
P 59 0.5 4 g H4
AITAR G i - | | ATTAE YO
T~ o = ™ 7N
I ®0O 0 " @ O - ! e
102 / 45 6 o 4.5 ol e
12
2-M5X0. 5

Inlet port

2 313



Slide table cylinder

AIl'TALC

HGS Series

HGS12X10
®318:8idp:3 22
55 25 . 2-M5X0.8 Inlet port
= « i =] ) ©
Q 3.6 T % To 3.6 2
Sile el 1. Lo e
2 Qﬂi N 'jw [y N N 9 8 8
[OREEe] -
" rad |5 14 b M 3 =l
=Y 3 ] =2 o J
A IS 2 I E et e
) S -
% 2 %1310:01dp:3 m @ Z| E 4.5
2 0 = 24 2-M4X0.7Thru.hole ~e -
& - e
&
05+0.1 _32+0.02
BrE \C olg
i sl IS
=1 4
PH R
P. Qare Installation datum 33+0.05 g
HGS12X10S
Max.74
9 9
g 59 0.5 4 14 4 4
s | = ©® H
T, 5 . I
[Te) = —
| PO 0 ©
n
10 pt 45 6 50
2-M5X0.8
Inlet port

Bore size: ®6, ®8, 10, 12

24

4.5+0.05

®3150idp:3

HGS12X10J Adjustablerange :5mm of each side

Hil
S H4
AIFAR Y
= T
! 1
wt | |6
o
12

314



o

Slide table cylinder

AIl'TALC

HGS Series

Bore size: ®6, ®8, 10, 12

HGS12X15
5.5
5 ®31804dp:3, 25 i, 2-M5X0.8 Inlet port 24 4.540.05
- e} =
Ln| n I } n
= = -\ | = o
i 36 : ; 36, o o O
41| Ak o< | s
| +0. .
© Lol @ o @ o i Q ®3 Yo01dp:3
© \
] ke < JEp.
Lol ™ <« < 2 = 2
;ﬁ ] %- 2 a g = g9
n ok N *’F (€ i = | & O
L. =< o & =
Q) ™ > |
2 = o [ ko
] ! =1 Lv00 o
g ~ o| 3%o0idp:3 2-08Countersink dp:4.5 3
g 24 M5X0.8Thru.hole S
+ g
il
0.5+0.1 32+0.02
m
Y
P N
o~
P. Qare Installation datum 33+0.05 2
HGS12X15S HGS12X15] Adjustablerange :5mm of each side
Max.79
2 H1l
© 4 ©
S 75 0.5 4 14 4 g H4
| AITTAR 0 i oo ‘ AIFTAR
T : o
| @ O © & o0 |OC R IBE R - P
20l i | 64 6 20 | 15| 20 [10,5]1.5 il e
2-M5X0.8 12
Inlet port



Slide table cylinder

AIl'TALC

HGS Series

Bore size: ®6, ®8, 10, 12

HGS12X20
5.5
55 25 w,  2-M5X0.8 Inlet port 24 4.5+0.05
s (o}
i = | | } "
: 3.6 ] ¥ ® 36 < (2 O
Lo - F °
O | o}
° © @ Qg2 e ol e ®3138dp:3
- I~ P
X © < QS = &
M lo S §: \J
o Ln S
O L T = b Sss
o al I~ %3
5 2 i 5 2
Ln = o % 'ﬁ‘ ] 1 @ @
g | x - ol
o ~ [a2] ]
L = Il o |
IS | . n
% © dp:3 2-08Countersink dp:4.5 S
= 24 M5X0.8Thru.hole o
<
il
32+0.02
R (o ) g
Ny o
7\
o
[a\]
P. Qare Installation datum 33+0.05 2
HGS12X20S HGS12X20] Adjustablerange:5mm of each side
Max.84
© o, Hii
S 90 0.5 14, S H4
ATTAE YO 0O)O) | | AT YC
7 ¥ 3 A~
LN, (a2}
" @ (3 ©® — ! |_|_||
1) 79 6 20 |20 _|_ 20 ol .16
N 12
2-M5X0.8
Inlet port

316



o

Slide table cylinder

AIl'TALC

HGS Series

2-®8Countersink dp:4.5

2-

Bore size: ®6, ®8, 10, 12

M5X0.8 Inlet port

A4

30.5

w
e

6
%94
0O
6

33
106

2-M3X0.5dp:4

HGS12X25
__5.5 ®3108idp:3 25 9
AN
A 36 © \O
© jg i
CE e S
iv—
[l el
a2 3 ~
5 ©
n <
S o
= = IJN7
e & x i
N oS n
. o
= Lol [T
= 31381dp:3
N 24 M5X0.8Thru.hole
0.5+0.1 32+0.02
LN,
QH* 2 2l
(AR ool I
P} N
P. QareInstallation datum 33+0.05 2
HGS12X25S
e}
s 105 0.5
AIFTAR
f n
| @ © © Q1
10/2 94 6
2-M5X0.8
Inlet port

317

4-M3X0.5dp:5

24

4.5+0.05

313:81dp:3

©3183idp:3

HGS12X25] Adjustable range :5mm of each side

Max.89
9 o Hil
‘4 14, #4* 2l H4
o o 3 ARUAE Y

o |
@® ‘ 0Q© A ! f\ t

20 25 _|_20 8.5, i e—tb

12




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20

